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WHERE: 
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WHEN: 
7XHVGD\V���30�WR��30 
0RQGD\V�DQG�:HGQHVGD\V� 
����$0�WR�������$0 
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�(QJOLVK-VSHDNLQJ��LQIDQWV��DQG�WKHLU�
SDUHQWV��LQ�RXU�7XHVGD\�FODVV 

7(//�0(�025( 
2XU�FODVVHV�HQFRXUDJH�WKH�VRFLDO��
HPRWLRQDO��SK\VLFDO��DQG�LQWHOOHFWXDO�
GHYHORSPHQW�RI�FKLOGUHQ�XQGHU���\HDU�
RI�DJH�DV�RI�$XJXVW����� 

KWWSV���QRUWKVHDWWOHFRRSV�RUJ�SUHVFKRRO�RQ-
FDPSXV�FODVV�RQ-FDPSXV-LQIDQWV� 

(PDLO��QVFFRRSV#JPDLO�FRP 

3OD\��VLQJ�	�OHDUQ�ZLWK�\RXU�EDE\� 

WHY: 
· *DLQ�UHVRXUFHV 
· *HW�VXSSRUW 
· %XLOG�FRPPXQLW\ 
· +DYH�IXQ� 
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KWWSV���ZZZ�MRYLDO�RUJ�QVLF�UHJLVWHU 


